. 2018 (A)
SSC PART-Il (10th CLASS)
COMPUTER SCIENCE (NEW SCHEME) (Session 2015-17,2016-18) (&~ ) Flotud

GROUP-I bt - o)
TIME ALLOWED: 1.45 Hours SUBJECTIVE .Ele #1145 = =
MAXIMUM MARKS: 40 | 40 = AF

NOTE: - Write same question number -:‘..@J;u:%_{.‘;lr.&g;f E’y}:/t‘?i?;::‘/:‘dlr‘&;{(éﬁ}lﬁ bt
and its part number on answer book, as given in the question paper.

SECTION-l .o

2. Attempt any four parts. 8=2x4 -gf/fh.,u;‘cfyw:.of _2/4)v
(i) What is meant by Problem ldentification? Sl :/L»a.,wé.l/ (i)
(1) What is meant by analyzing the Problem? E‘.f.?,:#/gc_,‘L,J;;f' g (i)
(iiy  Define the Program? BEOE ) e V ()
(iv)  What do you mean by Desk Checking? S sl lie Seo2i (v
(v)  What is meant to Execute the Program in BASIC? E’QFJI',/LJ/:_.L L?(*/’:-JJ..@ (v)
(vi)  Define Numeric Constant. - /...a{/“u ..,r‘E.,f:ﬁ {vi)
3. Attempt any four parts. 8=2x4 E i L?f.liblac..éf 34
(i) Define Nested Loop. gl _é"f’d-(rb:‘ (i)
(i)  Define Control Structure, A —é‘/‘j:vg/?:/"ds/"’( (i)
(i) Whatis Title bar? e WS (i
(iv)  Write down short cut key of Copy. —c“fﬂtfd—'(u*w ed Copy (V)
(vi  Explain Line Spacing. -,{:’f_w Lb:d/..f%a‘u;l! (V)
(vii  What is meant by Drop Cap? ?C-JJ/L"/C-WJ:-—’U} (vi)
4. Attempt any four parts. 8=2x4 g‘*—,://‘utfhﬁifuiaa:.af Wy
(iy  What is meant by Sub-script? Sl e g S )
()  Define Array W:/.,;‘_»}’J.».-..JI (ii)
(i)  Whatis ABS( ) function? w5 ABS() (i)
(iv)i Define Go - Sub Return, -L,_ff_@fd/u};.__xf (iv)
(v)  How many maodes in Graphics are? i‘wijféfd./.uﬁff (v)
(viy  What do you know about Screen Statement? el L; L"?.. = Screen (vi)

SECTION-Il .2

- -
NOTE: - Attempt any two questions. 16=2x8 G el e e 3 L
5 What 1s meant by Mode of Operation? -u:’g.:‘f;,!'«&/‘_(ﬁrd;ff}f i’.;.;ygf;,jr .f",; <5

Also write a detailed note on its types.

6 What is Loop? Explain FOR..........NEXT loop ,@/Q)u;,’L:JU'AJ..;:' FOR...........NEXT i‘:?;mL;‘f." -6
with example.

7 Define Numeric Functions. syl fu‘w{uu,u‘q’u_ J‘"J/:’J_,df u’f_-v/’f/ u:n il
Write any three names of numeric function and also write their purpose.
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PA[;E.R CODE 2018 (A) / W"} oD

NUI”BER: 3831 SSC PART-lI (10th CLASS)

COMPUTER SCIENCE (NEW SCHEME) ( Session 2015-17,2016-18) ( ) Flord
GROUP- by - s/
TIME ALLOWED: 15 Minutes OBJECTIVE U:‘B/".-a? w15 = oy
MAXIMUM MARKS: 10 10= A

A B\ SIS iperie u,;f,é‘g.;a.vidnm{qwm SLEsD 4 CBA Azl L vy -
EIR T ‘fé._‘.gpu’:'j:j&fﬂcuﬂgﬁ_.ﬁi 3(_):/’!: _b'n:r;’w.,,fﬁw’:iu‘-'@u‘g{'g/ﬁ Jo¥ | L/HO:ﬂm.{:}:.ug &
Note: You have four choices for each objective type question as A, B, C and D. The choics -pj)f;d",qowr
which you think is corret, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) Dividing a number by zero is called:- R rlk’(t/?::v;,}”ﬂ»f’ (1)

(A) Syntax Error o0t iy (B) Logical Error J_/I"jp (C) Runtime Error ,gl("':u; (D) None of these uﬁij@f;uﬁu‘i

(2)

document describes various features of +L’/—.=,;v u-;J.-_Ju'ff"f.g ,J’J)'..:,_l:o!“;;._if"’l;/fjn..‘.;‘tf Lol 13 (2)
the software and the way it is used:-

(A) Software requirement specification Ukbe b 2230 (B) Problem Description wo oSk

(C) User Manual foxsy (D) Algorithm %07
(3) If two or more statements are written in one line, _é,gtﬁﬁf‘g u:ﬁ}uf b JJJUL,S‘-...{J ' “»’Ur_»',u/(r (3)

then they must be separated by:- (A) Colonc)f (B) Semicolon Jfﬁ (C) Comma L& (D) Hyphen u'a’i,

(4) In Basic, the maximum number of characters in one line -.’.:.-L?Cﬁ e sU;JJ/"{/GJLJC-U':JV%;Uu,GU:-f:'-’ (4)
can be:- (A) 40 (B) 255 (C) 10 (D) 100

(5) is not a logical operator. ~ u’-’fr:/, i (5)
(A) AND Zf (B) OR ! (C) NEITHER L& (D) NOT &t

(6) Maximum number of elements per dimension can be:- uqyémm‘p&ug;uﬁ_—wﬁ{f (6)
(A) 10 (B) 40 (C) 100 (D) 255

(7) 2-D array is also known as:- 0, -0 R v (7)
(A) Table (B) Matrix /% (C) BothA&B UsB 4/ A (D) Vector £

(8) The output of function Fix (~5.83) is:- ~e 3T Fix (-6,83) cﬁﬁ (8)
(A)=6 (8) .83 (C) 6.83 (D)6

(9) In medium resolution mode, fore ground colors are'- 2 J/K)EJ/';*J 5!’:.::%"1'{-*./-3!-.” @
(A) 1 (B) 2 (C) 4 (D) 16

(10) Shortcut key to make selected word bold is:- e L,"/&(.:.JL;LL,‘(H'_/;"){;'}.EJB,&.:J‘?W (10)
(A) CTRL + SHIFT + B (B) SHIFT + B (C)AIt+B (D) CTRL + B

38(Obj)( I¥)-2018(A)-15000 (MULTANj)
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NUMBER: 3833 SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (NEW SCHEME) ( Session 2015-17,2016-18) (f-.‘ 2) Jhd
GROUP-| by - orf
TIME ALLOWED: 15 Minutes OBJECTIVE u":/’..v e15 = =
MAXIMUM MARKS: 10 10= AF
Aeagt L I3l 2o UL s L i g 36317 <t L5 D 1 C B A A2 vy e

4{24-IrU1 -fLigﬁ)uf;ﬁigj!Lﬂ@»‘JLfsé s _fmr;’wvlﬁujﬁgﬂ@;fgfi..& pors LS skie L 5
Note: fou have four choices for each objective type question as A, B, C and D. The choice -L{J;J’?;:@U‘f
which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No. A A

(1) In medium resolution mode, fore ground colors are:- Y S SISy o b (1
(A) 1 (B) 2 (C) 4 (D) 18

(2) Shortcut key to make selected word bold is:- - Jﬁﬂﬁzi;dfi-/ﬁffﬁﬂh‘i¢g’ (2)
(A)CTRL + SHIFT + B (B) SHIFT + B (C)AIt+B (D)CTRL+ B

(3) Dividing a number by zero is called:- _q:..fs‘tl:ﬁ:;f‘-j:.j‘"ﬁﬁuj (3)

(A) Syntax Error ;! uSisisu (B) Logical Error .1 (C) Runtime Error 2\¢egs (D) None of these U &0/e. Lo
(4) _______ document describes various features of .4.&/(_-.: usJJWrﬁnﬁuupyr".ﬁJéu}p sl (4}

the software and the way it i1s used -

(A) Software requirement specification kbl huiL (B) Problem Description .o les (i

(C) User Manual -J';‘:}.::j (D) Algorithm r‘a:-)l" /
(8} If two or more statements are written in one line, <l ?t/nﬁfc_ uﬁ?j@d"{,ﬂjﬂtﬁ%’l {,-fv:;"u.;, ksl (5)

then they must be separated by:- (A) Colong/y (B) Semicolon Hs= (C) Comma \¢ (D) Hyphen w‘@i-

(€) In Basic, the maximum number of characters in one line -c(;.g}j}? . s‘»"’d/-i/"{/';JLJau_UJJU-{iufu-@-' (6)
can be:- (A) 40 (B) 255 (C) 10 (D) 100

(7) _ is not a logical operator, -q_uﬁ{@& (7}
(A) AND %t (B) OR . (C) NEITHER . (D) NOT ¢

(8) Maximum number of elements per dimension can be - -u?éﬂubﬁ'néiawkiuﬂu"v’-{‘ (8)
(A) 10 (B) 40 (C) 100 (D) 255

(9) 2-D array is also known as:- el L (9)
(A) Table & (B) Matrix "% (C) Both A & B UshsB sl A (D) Vector 4,

(10) The output of function Fix (--6,83) is-- ~ep 3T Fix (~6:83) .."'3 (10)

(A)-86 (B) .83 (C)6.83

:(.j_:
()]
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=
NMWBER: 3835 SSC PART-Il (10th CLASS)
COMPUTER SCIENCE (NEW SCHEME) ( Session 2015-17,2016-18) (7 &) Mlotwd
GROUP-| g - o
TIME ALLOWED: 15 Minutes OBJECTIVE uﬁ/,-a? 215 = &
MAXIMUM MARKS: 10 10= AF
Ao | z‘?Lﬁ/’h.‘aw&uVa:.,,m.n.f,m_u: u;;uzfa;.;a.védrm{q{@z -GLE D 4IC B A AL vy Oy

434Ut A eSSl f o, KBl izl e m§L S Suk | Ll S L
Note: You have four choices for each objective type question as A, B, C and D. The choice _L{Jf;g,f"};_-,mr
which you think is corrcet, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubhbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A AUy

(1) s not a logical operator. e uffé,;-"&"& (1)
(A) AND ! (B) OR .l (C) NEITHER . (D) NOT £

{2) Maximum number of elements per dimension can be:- Ut a‘f:w&mg}a. ng,;t,f:y.{'l (2)
(A) 10 (B) 40 (C) 100 (D) 255

(3) 2-D array 1s also known as - S e 35 (3)
(A) Table (B) Matrix 7% (C) BothA&B UMBAA (D) Vector Fe

(4) The output of function Fix (w=B,83) is:- _;_..:,,;_:,STJ Fix (=6,83) ._-,ia (4)
(A) =8 (B) .83 (C)6.83 (D)6

(8) In medium resolution mode, fore ground colors are:- 7 iniﬁif/j:"-.,-':ir‘c;r'*l:xrféf (5)
(A) 1 (B) 2 (C) 4 (D) 16

(6) Shortcut key to make selected word bold is.- eSS it o g ®)
(A)CTRL + SHIFT + B (B) SHIFT + B (C)Alt+B (D)CTRL+ B

(7) Dividing a number by zero is called:- e r!'».f"f.f/-_}:;/‘"i/rﬁ-f’ (7)

(A) Syntax Error .l wSalw (B) Logical Error ;"/.f-fb‘” (C) Runtime Error IH/!,/L‘;JJ (D) None of these J:'}quj:'::— o4Ol

(8) document describes various features of = -:/'r_vié.nJJ&L’.@_}»fa?r”‘J&d}:;)V aelll (8)
the software and the way it is used.-
(A) Software requirement specification ¢l€e s 2o e (B) Problem Description wlos§t
(C) User Manual  firssy (D) Algorithm 201
(8) If two or more statements are written in one line, -;g.gt)’;,ﬁ:‘c. . uif}f}v:";ﬁf‘{,fur’;qu"Jj:}i'-'z’r_ .--‘3!-'/’] (©)
then they must be separateq by:- (A) Colon ¢¢ (B) Semicolon S (C) Comma Ly (D) Hyphen ‘/,»L
(10} In Basic, the maximum number of characters in one ine o Jir: S i*:f/wLJ::- a1k i e (10)

can be:- (A) 40 (B) 255 (C) 10 (D) 100

38(0bj)( W W X )-2018(A)-15000 (MULTAN)
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PAPER CODE 2018 (A) \\\ﬁ a3
SSC PART-li (10th CLASS

NLRABER: 3837 ( )

COMPUTER SCIENCE (NEW SCHEME) ( Session 2015-17,2016-18) ( (5 £) Sl

GROUP-| S |

TIME ALLOWED: 15 Minutes OBJECTIVE u‘i/"‘,,e? <15 = &

MAXIMUM MARKS: 10 10= AF

S ¢ Lbraf'bﬁlr'?a&/[_.,ﬂ:?;/z;;uﬂ u;ﬂ;éé.;&.'.fl.dlr/;{dbﬁiﬁ -L,Eéd:_) DulCBA n.‘b',b?;ﬁ&réd'fﬁ u.‘f}

434 Kb e S Sl { it ~Er b i e S Sk | L tonsiie i 5
Note: You have four choices for each objective type question as A, B, C and D. The choice ip{/;u"};a Ul
which you think is corret, fill that bubble in front of that question number. Qn bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 A Ay

i ; pa i - T | g
(1) If two or more statements are written in one line, bty Y <i B ?J”qufvo-'é- U Wi mla /| (1)

then they must be separated by - (A) Colong/s’ (B) Semicolon ¢¥5~ (C) Comma Ly (D) Hyphen ¢/,

(2) In Basic, the maximum number of characters in one line ual'.;:‘ﬁx o JJA;LEJJ,’://:J,':J:-AJ:Ju-”—'Jl-'-—}_/-“uf-f:f (2)
can be.- (A) 40 (B) 255 (C) 10 (D) 100

(3) is not a logicai operator. i Uf)l{:"gbb (3)
(A) AND 2 (B) OR il (C) NEITHER ¢ (D) NOT =t

(4) Maximum number of elements per dimension can be - _Vga’_—'_«ussi.“pa,u:;u’:;,«'..{f (4)
(A) 10 (B) 40 (C) 100 (D) 255

() 2-D array is also known as'- -J:E:':f - e uF (5)
(A) Table (B) Matrix o< (C) BothA&B UMB WA (D) Vector 5,

(6) The output of function Fix (~6,83) is:- “.;_..q,.:..iz'}’ Fix (=6,83} Ja"& (6)
(A)=86 (B) .83 (C)8.83 (D)8

(7) In medium resolution mode. fore ground colors are:- < z‘/gf«’?-‘/‘;’uf S5 o e (7)
(A) 1 (B) 2 (C) 4 (D) 16

(8) Shorteut key to make selected word bold is.- = i Bl -):?Mff"h‘fa‘&}&?" (8)
(A) CTRL + SHIFT + B (B) SHIFT+ B (C)Alt+B (D)CTRL+ B

{9) Dividing a number by zero is called:- se. L":'L.«'/':,-Jlf:}:;,_i";;xu"/ (9)

e

(A) Syntax Error sod i (B) Logical Error .1 (C) Runtime Error ,-i-ll;’L'L-,u (B) None of these uf’f‘-.}if;wu'
(10) document describes various features of _.7_t;f.'.vw;d',-v:’r;z_:_)m.; u_fo.-“;.,ifi*'d’x:’m)v ol 1 . (10)
the software and the way it is used: -

(A) Software requirement specification whfela 2 hei (B) Problem Description .;»L.'s.u,'a’_&»

(C) User Manual J';:c-;.:' (D) Algerithm l/"'f,-f:

38(0bj)( W W W I )-2018(A)-15000 (MULTAN)
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2018 (A)

SSC PART-Il (10th CLASS)
(201517,2016-18 %) (£ 2) Hind

COMPUTER SCIENCE (NEW SCHEME)
GROUP-II

TIME ALLOWED: 1.45 Hours SUBJECTIVE _i¥l.»

MAXIMUM MARKS: 40

! [A\Q A

!/.u - ‘.i.-df
£1.45 = =3
40 = AF

NOTE: - Write same question number ..c"_ZwJuf?L..;.JIV.GZ“é,{ E«JJ/:‘;ZJJF/:U!;'U?:{QKQF}.’ o

and its part number on answer book, as given in the question paper.

SECTION-l sl.»
8=2x4

2. Attempt any four parts.
(i) Define Flow Chart,

(i)  Whatis Debugging?

(i) What do you mean by Maintaining and Updating the program?
(iv)  What do you mean by Documenting the program?

(v) How a program is loaded in BASIC?

(vi)  Define Constant,

3. Attempt any four parts. 8=2x4
(i) Define Nested Loop.

(i) Write the purpose of WHILE - WEND loop.

(i) What is Word Processor?

(iv)  Define Font.

(V) Write shortcut key to underline a Text.

(vi)  Differentiate between Header and Footer.,

4. Attempt any four parts. 8=2x4

(i) Differentiate between LET and DIM statement.

(i) What is meant by one dimensional Array?

(i) Why we use ABS( ) function?

(Iiv)  Whatis the difference between FIX( ) and INT( ) function?
(V) Write the syntax of Color Statement.

(vi)  Define the PALETTE statement.

SECTION-Il 5.0

reading and writing to a Sequential File.

_é{f@“ﬁélf'){:&-él( 24
Ak ()

LS i)

Sl Ve bt JudsSeilsy i
Seslpe & SamlisplSsy  (v)
Setlblfhiit: )

Gl le e i

& felzlizvpe 8 340
Sl ()
2B WHILE - WEND (i)
S\ ds i)

W ies ()
T SL T B ()
LI G AR s (vi)

G fe 2 lizipe 3 4y
LI DIM A LET ()
‘el Amay &L (i)

‘e by 2 PABS() (i)
eI ULE wﬁgWT( )4 FIX()  (iv)
Y Cotor )
L PALETTE  (vi)

NOTE: - Attempt any two questions. 16=2x38 ,é;fagfxéauw;{;ﬂf ey

i Write structure of BASIC program. Also define reserved words. -gj/:.é{f""g,@whﬁ5,:::'@,);/;%»3{(17'2_,@ -5

6. Differentiate between - L Pusl s SR THLNF o TheR ELSE sl IF ... Then -6
IF . Then and IF ... 7 ELSE statement through syntax and flow chart.

7. Describe different ways of opening, closing, S ANE I sl s ok wbostll S Pra &

40-2018-(A)-9000 (MULTAN)
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APER CODE 2018 (A) (/M?j s

SSC PART-II (10th CLASS)

NUMBER: 3832

COMTER SCIENCE (NEW SCHEME) ( 2015-17,2016-18 &% ) ( f‘ %) u‘""l.«/‘,:;f
GROUP-I bs - onS
TIME ALLOWED: 15 Minutes OBJECTIVE o“‘i/";ﬁ w415 = &
MAXIMUM MARKS: 10 10= AF

Ao L I3 Il Mp s uuua‘fg_;z_védlrﬂqmsf ~BLE D HCBA e N2l iy e

{2401 lf;..bbu’"" /M,c...y&_/ﬁ,,g J(J:/I: Bl izl ...w‘d/d_/l o a..fJummu;J 2
Note: You have four choices for each objective type question as A, B, C and D. The choice -u’f J"f...,mr
which you think is corrct, fill that bubble i in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A
(1) Dividing a number by zero is called:- —4 t'ngftjP:"yr_)‘;Gfo (1)

(A) Syntax error ) Luidipw (B ) Logical error ;/fL}’}J C) Runtime error ;{rﬁeuj (D) No error u:‘f;/ré:f
(2) Algorithm is a:- L A (@

(A) Requirement document &-;;"liufé_xl,f...w;ﬁ (B) Design document ..‘.md'l}w:iz}

(C) Test document s/ 152+ (D) User guide %6y
(3) short key is used to run a program in G.W.Basic. -3 s . .»,J_Li.ﬂgr'f)i;auéﬁid (3)
(A) F4 (B)F3 (C)F2 (D) F1
(4) command continues the S b SRS S i )
program whose execution was terminated temporarily.
(A) CONTINUE (B) CONT (C) RESTART (D) START
() FOR........NEXT statement is used to implement:- -GS FOR.L NEXT  (5)
(A) Iteration &L ZAF (B Selection £ LB (C) Sequence L (D) All of these (12
(6) An element of an array is mentioned by its:- _Z.JJQ;Z_/C:GJEVJJ’&LJIVIJ (8)
(A) Subscripte _f,/ﬁ_./ (B) Array el (C) Object e 2Lzl (D) Name of element c;.rti{u‘:
(7) The statement DIM C( 30, 50 ) would reserve:- -« /5 DIM (30, 50) vt (7)
(A) 80 Locations =180 (B) 1500 Locations =4-1500 (C) 1800 Locations «=\1800 (D) 150 Locations «=Lk-150
(8) To read information from a file, it must be opened for:- _%gv/;.fé_éag.u}"c, o (8)
(A) Input ;! (B) Processing —Exs;,  (C) CLS (Aifiy - (D) Goto 5
(9) In medium resolution screen mode colors for foreground are:- Ut /K &3 st’u'}rufwmﬁy (9)
(A) 1 (B) 2 (C) 4 (D) 16
(10) ______option is not in Edit Menue. b2 s FeHST _ (10)
(A) Undo siui (B) Redo 4. (C) Find %6 (D) Font &7

40(Obj)( 3¥)-2018(A)-9000 (MULTAN)
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PAPER CODE 2018 (A) [ !‘4@) A

SSC PART-ll (10th CLASS)

NUMBER: 3834

COMPUTER SCIENGCE (NEW SCHEME)  (2015-17,2016-18 %) (f.? £) St
GROUP-I b - o
TIME ALLOWED: 15 Minutes OBJECTIVE g%/«;,» 415 = =Dy
MAXIMUM MARKS: 10 10= AF

/r_"-@ ! /:L.J;}FJ,.W&W&.,.U?M»LJ u:fb«’-fé_J&.Lfédlrﬁ{Qﬁ}Iﬁ ..u_'_?éc:-J D . CB:A a;fﬂj;kﬁdfrﬁ O
424Ut Ko A e S5 S A et il it eSS Sk | &Sl LI
Note: You have four choices for each objective type question as A, B, C and D. The choice _L{/Qd’ﬂj;awr
which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A A

(1) To read information from a file, it must be opened for:- _a:rgw*;.rg_ia:;m#‘a‘j% (1)
(A) Input e (B) Processing _ﬁ:ﬂg (C)CLS u’ifdju’ (D) Goto '

(2) In medium resolution screen mode colors for foreground are:- 4 J}’Z.Muj;‘u:’ iy';;,:/‘uiﬂs;_ufi,’g (2)
(A) 1 (B) 2 (C) 4 (D) 16

(3) option is not in Edit Menue. bt e AT —— (3)
(A) Undo sii (B) Redo 35 (C) Find %6 (D) Font 2+ #

(4) Dividing a number by zero is called:- -;.t‘tl:)/[:/(:?;;,}‘):ﬁfr (4)

(A) Syntax error ! (i (B) Logical error J{ft,.i?—;' (C) Runtime error ;;If’ by (D) No error u."j,_/féf
(5) Algorithm is a:- e Zh (5
(A) Requirement document .::a:"fig.‘.'a_,fl,é.:.wﬂ(B) Design document w:..fiig-frzi

(C) Test document wsns/ 15 -+ (D) User guide 4#€.y

e |

() short key is used to run a program in G.W.Basic. e e S _&/.’i.ﬂgrf/'i;uﬂ\.@:;’:}& (6)

(A) F4 (B) F3 (C) F2 (D) F1

(7) command continues the -d? LS’ZG;{M@&J::Q? rJu’-q.d”Lg,?r/f;uu:u' . (7)

program whose execution was terminated temporarily.

(A) CONTINUE (B) CONT (C) RESTART (D) START

(8) FOR........NEXT statement is used to implement-- -JL A1 FOR....o NEXT  (8)
(A) lteration &L L1 F  (B) Selection <L L ¥ (C) Sequence L 25 (D) All of these (%

(8) An element of an array is mentioned by its:- , -Lurpgé_quwfu“jéc_ﬂ_{l (9)
(A) Subscriptee - (B) Array c 1 (C) Object .05 (D) Name of element = #t6./)

(10) The statement DIM C( 30, 50 ) would reserve:- -« 3/E7 DIM C(30,50) o (10)

(A) 80 Locations = Lz-80 (B) 1500 Locations «Lz+1500 (C) 1800 Locations 11800 (D) 150 Locations «\l5150
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' PAPER CODE 2018 (A) (/Ht@ ey
| N

SSC PART-Il (10th CLASS)

NgIBER: 3836

COMPUTER SCIENCE (NEW SCHEME)  (2015-17,2016-18 o™ ) (£ %) *lind

GROUP-II I3 - ..;a:/';

TIME ALLOWED: 15 Minutes OBJECTIVE (j'.‘:f’y L4156 = =y

MAXIMUM MARKS: 10 10= AF
A oINS 52Jl ip e 2 u;;ua‘f;:.‘»_v.&ufr,y;;q&yg -SLED sCB A ezl Jivg s
424Ul _E&L@L)u:{%dfaﬂaw‘u(é_/:;.é :’aﬂb _fﬂ;ﬁwvfiuﬁgﬁaﬂ"uh;& Joy ! L/C;’,,b,/’uuyc. okl 255

Note: You have four choices for each objective type question as A, B, C and D. The choice «Q/C:J}Q-awr

which you think is corret, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the: bubbles. Cutting or filling two or more bubbles wili result in zero mark in that question. Attempt as

many guestions as given in objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 =3 /:‘Ufr
(1) An element of an array is mentioned by its:- _LJI.JH:Z./C;%[-;C‘C«_;L{! (1)
(A) Subscnptc_-,_p?}.?/ (B) Array <l (C) Object L5y (D) Name of element .a—_rt'{u;':

(2) The statement DIM C( 30, 50 ) would reserve:- =3B DIM C(30,50) ¥ ()

(A) 80 Locations =\4-80  (B) 1500 Locations =A+1500 (C) 1800 Locations = tl1800 (D) 150 Locations =Li=150

(3) To read information from a file, it must be opened for:- _éstgw;fﬁ.lqj_ia:;c.tﬁ*bj%
(A) Input ;o (B) Processing =1, (C) CLS A (D) Goto 3~

(4) In medium resolution screen mode colors for foreground are:- _\)_’rj.)“/a:;‘:il/'f};;i’}rq}c?ﬁg.f(‘-',‘y
(A) 1 B) 2 (C) 4 (D) 16

(8) ____ optionis not in Edit Menue. b Ao LR T o
(A) Undo siefi (B) Redo 3 (C) Find %55 (D) Font =9

(6) Dividing a number by zero is called:- = L"LQ«‘/t/r“::".?;.,i"ﬂxJ’

(A) Syntax error . il w&iiivw (B) Logical error J{J‘fﬁ (C) Runtime error .f_/-‘ljccb (D) No error uf.‘ﬁ;idf

(7) Algorithm is a:- S A

(A) Requirement document .:,m.—.’/liut‘.';.:gf_.—m/—" (B) Design document s 13¢fiy3

(C) Test document oo/ T3 (D) User guide 4.y

(8) ____ short key is used to run a program in G.W.Basic. _..T.,t:!_wda»‘*lu’..wlﬁ L ug(r/’i;J..,Q_réjd
(A) F4 (B) F3 (C) F2 (D) F1

(9) command continues the if L’ffffu{,r:bl_s".’aucﬁ;&/frg!gi_f_.;iu;u‘}f/?uw W

program whose execution was terminated temporarily.

(A) CONTINUE (B) CONT (C) RESTART (D) START
(10) FOR.......NEXT statement is used to implement:- ﬁ.u_:rs"_fdt-i‘u)}f’ FOR.......... NEXT
(A) Iteration L. £.LF  (B) Selection & L& (C) Sequence & L. (D) All of these 12,

40(Obj)( W I I )-2018(A)-8000 (MULTAN)
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PAPER CODE 2018 (A)
SSC PART-Il (10th CLASS)

NWMBER: 3838
COMPUTER SCIENCE (NEW SCHEME)  (2015-17,2016-18 o ) ((:-5 %) u'*’w,_,/

GROUP-| Iy
TIME ALLOWED: 15 Minutes OBJECTIVE (5% 15 = =y
MAXIMUM MARKS: 10 10= AF
/“c_.u.? L /:U;?b,ﬁl:‘?g:flb/f.?m.:ﬂwa.pﬁ u:ﬂ:éfé_}ﬁ.lnﬁdirﬁl;qufﬁ ..@Ffé.} D . C B A :Jl,fﬁ;fikv.{-dfrﬂ -

424Ul Ko Ew.l::u.?’/‘(jfu: ey L./,G.{’ )’as}b _fmﬁw.,mwfz uf.:wr‘if L./Q‘ Sk L i../‘:;‘fu:}ba{{:);:.o_g =y
Note: You have four choices for each objective type question as A, B, C and D. The choice _L):/C:J"ﬂ;;..-.»mr
which you think is corret, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /.‘.Uir

; Fe L okt AT
(1) command continues the = du(,-,-,;,rr"gﬁ-boﬁggfrgfu’?{_dl)gfr*f/{u’!ﬁu'

S (1)

program whose execution was terminated tempararily,

(A) CONTINUE (B) CONT (C) RESTART (D) START

(2) FOR......NEXT statement is used to implement:- Sl e FOR. NEXT (2
(A) lteration <L s ¥ (B) Selection + L 1 (C) Sequence LA (D) All of these  ¢(%

(3) An element of an array is mentioned by its:- _Z.JFL,;.‘L)}LEIUCAZ.»_;I.{J (3)
(A) Subscripte_ e & (B) Array «c__i (C) Object « .l (D) Name of element = ¢t/

(4) The statement DIM C( 30, 50 ) would reserve.- -« 0/5¥ DIM C(30, 50) ot (4)

(A) 80 Locations =180 (B) 1500 Locations «45-1500 (C) 1800 Locations «\+1800 (D) 150 Locations wbl150

(8) To read information from a file, it must be opened for:- _é_;.gl;l;»*;-_lé_é&:;:.!.}"‘a. J’/Ls (5)
(A) Input < ol (B) Processing £z, (C) CLS (&1 iy (D) Goto

(6) In medium resolution screen mode colors for foreground are:- _%?J,ff.}iljf:"ut 5;/‘@}0353;(5;«- (6)
(A) 1 (B) 2 (C) 4 (D) 16

(7) option is not in Edit Menue. -tﬂuﬁ“d%¢-£'u?57 N (7)
(A) Undo +4uii (B) Redo 5% (C) Find 5§ (D) Font w24

(8) Dividing a number by zero is called-- bW s ()

(A) Syntax error s Ssliuu (B) Logical error J{i;)f’-;‘ (C) Runtime error ,-szr”lf,;,u (D) No error L,f."ﬁ;JJf
(9) Algorithm is a:- . « ;Lﬁfr (9)
(A) Requirement document ..»;/-{J}L,ff:._,fgz:..wz,«-"(B) Design document ..-;.m.{’ijufr;;f

(C) Test document wory/ 144 (D) User guide €.y

(10) short key is used to run a program in G.W.Basic. - Sxd@JJJnL‘/ Ll L!gr'f)f{ufu..@:;%ﬂ (10)

(A) F4 (B) F3 (C) F2 (D) F1

40(Obj)( 3 ¥ Y ¥¢)-2018(A)-9000 (MULTAN)

I ————




BOARD OF INTERMEDIATE AND SECONDARY EDUCATION, MU TAN ) “\}/

OBJECTIVE KEY FOR SSC/HSS 1(’1’% ANN‘J/AUW EMMINA&IOM‘IG
Name of Subject_cﬁﬂ'zﬁml_gg_@&e’ session 2218 -2 ol7, 2 olb - '2-,0{3

Q.| Paper Code | Paper Code | Paper Code | Paper Code Q.| Paper Code | Paper Code | Paper Code | Paper Code
Nos | 383 [3833 |38 353837 | |nes|3832 3836 |283¢ 3839
1 C A ]JC 1A | C [ A A B

| C | D | D[ B 2 | B [ A B A

s 1A (£ [ [ & | C D [ A [ A
B [ C A |D | B | C A | B

s C |A A | s | A |B |D A

s | D B | D A s| A | C A
vl | & |8 A | B | B 1B [ D
s | A b BT - D s | A | A C e

s |A [ C | A C o A |A | B | B
WD | A |B | (O n|D B A | C

11 / 11 /

12 7 12 /

-
(48]
—
L& ]

N
&
AN

s
N

|
e

=

=~
3

~

/

// e //
KeyHoll o Jrfest e By
£2018y61& !.UV/IJ/E‘?"B,'ES_"}?(‘:M-«Jf /0 l\J'L'/J A0
rulee YU SetdbsL Syllabus 2 ¢ e VG JZA4 (Subjective & Objectlve o‘ 52l
,.;{Ji/:..gfci/,r.,n;{b/ut‘j’lVers;on,_....;_.y/_gf\/ermond.;/ﬁ»buiE’__g,;.,}lr&_ﬂ.‘a.,d“dﬂffu{ﬁ.;{
el Se el PF e Likeyl fifesr - 28I F LN Jo b 4§ KeyMeas) s
-uds e Rubrlcsff':..ﬁ/zu_,m._ﬁ’;i.ru & efi . a.dw(eyJu?JJuJJ,ILU/f»&»;fKu4¢_IJf;
Prepared & Checked By: Dated: _}5/3 L 8

S.# Name Designation Instltutlon Mobi I¢ No Siggatuf)e

S

2 [P B  SSTOT)| ke e Shuton, "

o=
w

—
0w

R
o

3 [Kh Mohammned tonest, | SSUCCOITHEN C Rayhood apmd | 42115112 Wb

Re-Checked By < (40P e d /g Ve oL =iy Key' u-/.(u-s, 1y B g Bl
S— GHS Sunxe ML:-_' A s

1 Jamad UL [ SsTCes) Mo Jey e %

2 | Wagamr Gowsl) M0 | SST D) | GHS fppp e PR | 5 4i72e7 M

3

/6 —23-Jol8 bk




2018 (A)

SSC PART-ll (10th CLASS)

COMPUTER SCIENCE (OLD SCHEME)

5%

(ff?.ﬂ:’ ) u;"/Lf/*.;g.f

GROUP-| by - oS

TIME ALLOWED: 2.45 Hours SUBJECTIVE e 045 = =
B e

MAXIMUM MARKS: 63 63 = AF

NOTE: - Write same question number -‘LZ'/JJJ:%...{.Jff.&é.“':aﬂ/ﬁZJ}f/:‘Jlf@}{Légd‘lﬁ
and its part number on answer book, as given in the question paper.

SECTION-I sl

2. Attempt any six parts. 12=2x8
(i)  Define Program.

(i) Whatis meant by Top Down Design?

What do you mean by Syntax of a

Programming Language?

What is the difference between Bug and Debug?
What is BASIC Language?

(vi)

(vii)
{viil)
(ix)

3. Attempt any five parts.

How a programme is loaded in BASIC?

What is meant by IDE?

What is meant by String Variable?

10=2x5
()  Define GOTO Statement.

(1) What is meant by Un- conditional Transfer of Control?
(i) Write syntax of FOR .......... NEXT Loop.

(iv) Whatis Array?

(v) Define Index.

(vi) Differentiate between 1--D and 2--D array.

(vii) Explain the process of filling and printing of an array.
(vil} Write three names of built in functions in GW-- BASIC,

4. Attempt any five parts. 10=2x5
(1) Define Pixel.

Write the use of SCREEN Statement.

(i) Write the purpose of Line Statement.

(iv) Write the use of Word Processing Software.
(v) Whatis a Toolbar?

(vi) Differentiate between Save and Save As
(vii) Write the use of Ctri+U.

(viii) What is meant by Drop Caps?

(& Ju)

What is the difference between Command and Statement?

Ly

- fe Lz e § Z/Jir

=t 'ru..v/” (U;/
ﬂ-;_,-r/ya_umw.;._«‘.x

o - . -7 T o
-uxaT}J/EJTrCﬁU.&;%Ma—E}'MJ/J/{

e OS]
‘.‘4‘:.@;’6,@4}:

e b Sy
Qd:..d,} rf_.-"-/ﬂ»v
._-_.Jf/\,:_. IDE

(f L:.g.f i
<A JIg sk

(iv)
(v)
(vi)

(vii)

(viil)

(ix)

-cg{/f._.yliél}iétc,df 2341

s A5 coTo

‘eolle b SREL )y

S A7/ pSauib ) FOR ... .NEXT

s (Array)
s S A

SO S N 2--D i 1--D
S eSS L S Sl

UL 2B Lt GW-- BASIC

Vo
S Umlle
‘ 4

(1)

(viii)

G fenlingle (S -4y

S S

oy xf/t,L'-"Fb../*- SCREEN
U2 BB Line
HV:/:{/"UL':*"”‘EJ'}':.:.:-:‘V..«:C:’J.: 70
fe s

S/ UeII Ut Save As sl Save
AUk Crri+U

, i
Sl Ve sl
] - =

()
(i)
(1if)
(iv)

(vi)
(vii)

(viil)



(2) *

SECTION-IIl fn2
NOTE: - Attempt any three questions. 21=7x3 ﬁé{/u:Lfﬁéaﬂlrcﬁ.a,Jf sy
U S Lo L s iy Seoton S Sl iP5
5.  What is meant by Flow Chart? Explain it and describe important standard symbols

that are used for drawing flow chart.

- . -
2, 2, 3) el IS TSI SRt ol sp Sy 26
6. \What are logical expression and logical operators? Explain different logical operators

with examples.

7. Define While-wend loop. Sl Jea bbbt g Sy /S d While- wend -7

Explain it with an example.

- Lz s oo . I - ‘.._" /h
8 What are String Functions? el G2 Dt O Sl E L 8

Explain any three string functions in detall.
9. Define graphics. Explain the graphics modes in detail. HL_;:/r:.':.)Lstjb’u’QF/f _Q’/i@fu-fuyl/ e

SECTION-IIl (s
10. (Practical Part) Attempt any two parts, 10=56x2 _ZEf1zne df (2 FE) 10

=
|
P

e Spepnd L I S )i ) FOR....... NEXT2U 2/l (A)

(A) Write a program to print first ten even numbers using FOR -- NEXT Loop.

_Ll::usud:ri‘;-g,:/‘/2_..!6Lfdv}'fjwu;ﬂﬂu:/g/;ﬁ/;;L,;".,}:' (B)

(B) Write a program that displays a vertical line on the screen using Line Statement.

S P T e B MS- Word  (C)

(C) Write down the mode to save a document in Ms- Word.

38-2018(A)- (MULTAN)




' 2018 (A ogg\ ey,
PAPER CODE (A) — J

[NUEEER: 7831 SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (OLD SCHEME) (A2 ) Flawd
GROUP-| by o)
TIME ALLOWED: 15 Minutes OBJECTIVE uﬁ/’.a? e15 = =
MAXIMUM MARKS: 12 12= 45
Aeth L Dhi3 3L g e AL E s L Y 136012 25D 4 C B A V2B L g i)

424U ,?'E_Lgpu:ffa:}(jyfj.‘.._-.;fdlé_/fsi sty -fmr‘%‘i..,&-?wfidau";}/i,fé et J_./C;‘;’/u,v’lmgjr_,ug &5
Note: You have four choices for each objective type question as A, B, C and D. The choice ,g,&d’}ﬁ;.urr
which you think is corrct, fill that bubble in front of that question number, On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A

(1) kKinds of errors may occur in a program Wg“.«:éub;&i : - u:lf'l/f{.{r (n
(A) 2 (B) 3 ) 4 (D) 5

(2) BASIC language was developed in the year:- -J@fz;uﬁ_' (2)
(A) 1563 (B) 1978 (C)«1982 (D) «1890

(3) Non- executable statement in BASIC is:- e e (3)
(A) END (B) RENUM (C) NAME (D) REM

(4) is not a logical operator. ~< TR ,{7&(.’-!’ —— {4)
(A) AND (B) OR (C) NOT (D) Neither

(5) ____is unconditional control transfer statement in BASIC. _rl‘_qffd'sci.x’pjh‘;'cj_i,pf}m;}:f:iU'J/:;f('_,-:..a';'f (5)
(A) GOTO (B) ON-GOTO (C) NEXT (D) FOR

(6) control structure is used for decision making in BASIC. - tw i) 5 f1L3 Al B AN (6)
(A) Sequence =7 (B) Loop JF (C) Selection (13 (D) Operation L_—P»'{I"

(7). The statement DIM A(30) will reserve ___ memory locations. S DIV AGO0) == [ (7)
(A) 29 (B) 30 (C) 31 (D) 32

(8) is the first element of an array having 4 rows and 3 columns. ~ J:LL;; b’.;_,fu':’:;% ,I;)E’g_-f,-siuu&l-g (8)
(A) A(2.3) (B) A(1,1) (C) A (0,0) (D) A (4,3)

(9) The output of ABS ( --4,58) is:- ~eAZE2 25T ABS (- 4.58) (9)
(A) 4 (B) - 458 (C) 5 (D) 4.58

(10) A line can be drawn with ______ statements. _.T_L}*:k’;:llag:l’a Sars R € [0)!
(A) LINE (B) DRAW (C) a&hb (D) CIRCLE

(11) The name of document is displayed on:- _T_L“x_,r_.Lz';fL'il_-,;‘r_'/.'i (11)
(A) Menu bar .4 (B) Title bar c_,;-'_,u'}f-: (C) Status bar :W_Jgi,-"*-:' (D) Tool bar .4 s

(12) In MS Word shortcut key Ctrl+c is used to:- _ﬁ-_k_‘;ﬁul-:,:—l Ctrl+c u’¢-‘i;;wu¢.:,,u:'.,i4 (12)
(A) Cut o (B) Copy (¢ (C) Paste o= (D) Find i

38(Obj)( 3¢ )-2018(A)- (MULTAN)
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Nos 7(93} 763\5 7F§_S_ 7(?-37 Nosy /
18 lclelp]N 7
2| A | C | B A 2| \ /
| Db [ B8 ¢ 3 /
a | D C B c 4 /
A | B | & C ; \ /
6 | C & D D 8 \ /
e [ B 1D ¢ 7 N/
| C A | A | B ’ N\
o | D D C B8 9 /1 \
10 C ,D C B 10 / \
1| B8 | A C A 11 / N
2| B8 C D D 12 /, \
13 / 13 / \
14 / / 14 / \
15 / / 5|/ \
16 1/ !/ 16// \
17 / / 17 N iy
8]/ / | 2
10| / P 19 )
20 [/ i 20
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